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Solve each system by substitution.

syst
1) 3x— 6518 =3x = ZI§ 2) —4x+ 651e0 e
yx=6/ 8 3 ya7x y=70)

A ()g..(’)::l Y Iy ""Lh("r-(,(‘?x,) =
Zx—ly+ 3l =8 = o T b dex = (9 O)UJ
—2x 436 =¥ ég’_&-_—_-g
“3p -3k (r.,o)\ 38 3&
3% = -8 h X =
3) 3x+6yF-9 4) 2x+ Qyf= 14 _
R () +2y =19
Y\ y=3x+7
3xdb ()=~ r=x 2 pa(ax+) =11 -
Gy = ~ y=-! ox 46X +~ML{="7( y =7
e — S :z
:i( lq C-1,-1) £x f:j "y (o)—dj
- o4 T
2x ==
4
X =0
5) Tx-2p=2 6) y=3x+2\
y 2x + 5= 10
y= 3(7_) = 3(s) ta
- = 2= y
7x —2{3x) y=¢ 2 45 (3x¢2) = (O _
T by =2 ~ -0 = A
2y H 18X +0=
Y =2 0 = {10
(o [,,) /7{_4—!:0 “io (o, )_)j
/7 7
X =o
Write the slope-intercept form of the equation of the line through the given points.
7) through: (3, 1} and (5, —1) 8) through: (=2, 1) and (5, -3)
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Answers to Homework 17.1
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